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� �!"� 3A = 18 × [19 − (4 − 2.2)× 2] + 19
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6
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 �;< ;= �' 2

# (FE)//(AM) �>� ?� @0 3

# A� B� 6[FG] *:+&,- (d) CDEF 
7�' 4

�EF = EG � �>� ?� @0 5

6 ̂E *� G (
HI
 JKL�' 6

# A� B� 6 MNO
( *'�&�P� ��� D, M, A Q�&�	
 C= 7

6FG = DM 
7�89 8

#O *+&�,- *.!/	�0 DMA R� SD89
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� �!"� 3A = [(15 − 3.4)× 2 + 3]− 5

B = 10 + 9 ÷ 3 + 15 × (5 − 2) + 3
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A =

5
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4
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− 4
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5
3
+

3
6
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2

� �!"� 3A = (15 − 3)× 4 + (12 + 3)÷ 3 − 14

B = 0.5 × 13 + 12 − 9 ÷ 2 + (15 − 14)
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#A� B� 6 MNO
( *'�&�P� ��� A, E, M Q�&�	
 C= �

#D *+&�,- *.!/	�0 A, E, M Q�&�	
 vw�45 A′, E′, M′
�

# A� B�6MNO
( *'�&�P� ��� A′, E′, M′ Q�&�	
 C= # A′, E′, M′ Q�&�	
 ��k�� >(�� �

#O *+&�,- *.!/	�0 ABDC ��1	
 2345 A′B′D′C′ efg� 2

6 AD = A′D′ 
7�89 3

(B′C′)//(BC) � �>� ?� @0 4
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(12 ++ 33))÷÷ 33 −− 14

2 − 99 ÷÷ 22 + (+ (151 −

A� B�6MNO
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